Calculate.

1. T+ 62 < —-3—6(4z+1)

2.2z + (—1)z <1—(—-3z+4)

3. 8+ 7x <9 —6(4x + 8)

4. —(1 = (=8)z) — 5z > 8z + (—H)x

5. =2z + 3z > —(3x + (—6)) — 2
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6. —7Tx +8x >2x — (—=7—(=7)x)

7. —7>—1(1 = (=1)z) + 6

8. 4z < 6((—7) — Tx)

10. =92 > 2z + 5+ 5z



Calculate.

1. 8+ 9z > —4(9 + 32)

2. =(—92+8)+(—3) <6z

3. —(6+2z) —2x < —Tx

4. 8> 5(=9+ 3x) + 3z

5. —3>6— (—7z —5)
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6. —(4—(—8)z) — 8x > —8

7. 20 <1(—z+2)—8

8. 1(5—2z)+ (—=9)x > 8x + 6z

9. =92 4+ 8z > —(—5 —2z) — (—H)z

10. 7> 5((—8) + =)



Calculate.

L. x+(—4) — (=5)z < 3z

2. 31 < —6((—9) — (—5)x)

3. Tv < —(=7+8z) + (—9)z

4. 6z + (—4)z < 8(8x +T7)+ (—1)

5. =8 — (2 — (=7+ (—6)z)) < —x
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6. 5 < —4(—5z + 4) + (—6)

7. —(—z+6)—8<—9

8 —Tr+92> (84 (=1)a) + (—1)z

9. —8z > —(~9z + (~3)) — 5

10. =5z > =14 1(3z — (—9))



Calculate.

1. —1< 12— (9— (=3)z)

2.3>2(T+7z)+ (=3)x

3. T(Tx —5) + (—9) > 4z + 8

4. —8x+8r < —(5—8zx) — 2z

5. —dx <4 —5(—6z — 9)
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6. —(9—(=7)z) —Tx <3z + 9z

7. =T — (To +(=7)) > 8z

8. —(=1—-9z) — 9z < —x + 4z

9. ~dx+ (—4)x < —(—1— (2 — (—4))) — bz

10. =8z =5+ 6x < =7



Calculate.

1. —(6z+1)+(-4) <9

2. 7> 2x— (44 (—6)2)

3. —(—8z+4)+ (=8) > —4

4. x+8x > —6(5x — 3) + (—1)

5.9—1(—4z+9) < -7
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6.4<3—(-8x—(—2—1x))

7. x+4x < =5 — (x — 3)

8. —5x — (—9) + 8z > —8

9. —Tx > —9((—3) — (—2))

10. bz < —4(8 — Tx) + bx



Calculate.

1. =32 > —(9— (=Tz + (=2))) — (=T)z

2. 4(3+ (=5)1) < —x

3. —(=8z+ (=7)) — (=5) < bx + (—7)x

4 —2>1— (92 — (=7))

5. =bx 4+ (=2)x < =7(5bz +9) — (—8)
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6. 2> —5(—5z — (=1)) — 5

7.3>8—1(—3z + (-8))

8. 5(1+52) — 5z >7

9. 44 2(—dx — (=5)) < —1

10. 22 — (6 +2z) > 3z + (—7)x



Calculate.

1. -9> —(7T+ (—1)x) + 4z

2. —(d—(z+(-6)) + (—7z <3z + (-2)z

3. =bx+ (—4)x > —9(Tex + (-7)) + 2

4. x+3x <T7+5(=bx+1)

5. =Tz — (=5 +9z) < —2
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6. 2x 4+ 6z > 9(—8 4 2z) — (—2)x

7. —(=3x+(-3)+8>-3

8. 8—(—8r—(—2—5x)) >8x+Tx

9. —(—2—8z) — (-8)x < —dx + (—2)x

10. =92 + (=3)z < =8z — (24 (—4)x)



Calculate.

1. =62 >3 — (bx — (=7))

2. —x < —Tr+3(-8 — (-8)x)

3. —4>—(-2—(2x—4))+ (—6)x

4. =5 —4(4x — (-1)) > =22+ (-3)x

5. =br > —(3—(=T)z) + (-9)x
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6. Tx+ (—9)z < —(9— (=Tx + 1)) — (—4)z

7. —-8—1z)—(-H)r < -7

8. —dx +2x < lx 4+ 6(5+ (—8)x)

9. 3z 4+ (—=7)x <2z — (-6 — (=7)x)

10. 8z — (—2 — 2z) < 8z +4x



Calculate.

1 —(=2z—(=2)+1<5

2. —4(—3x+5)—8<3

3. —8x — 9(—8+ 3x) > 4z + 6z

4. —(142z) + (=5)x < 3

5.9> -3 —(x—(—=3+9x))
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6. —x >4 —5(—dx — 1)

7. —4(1+92) + 3z > 4v + 4o

8. Tx < —2(—z + (—1)) — (-1)

9. 22+ 3z > -8z — 5(—1 + 5z)

10. —(92 + (=6)) — (=6) < =7z + (—6)x
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1. =6 — (bx +9) > —4x 6. —4r + (=3)x > =3z + (1) + (-1D)z
2. Tz + 62 > 5+ T(x —9) 7. —5((=5) — (—9)z) < 2

3. —dx — 5(4+4z) < —8z + 2 8. —3z > —8(7 + 4z) — (—8)x

4 —1> 7o — (4— (-8)) 9. 9z + (—8)z < —3(7 + (—6)z)

5.4< —(=1—(=8x+(—-9))) — Tx 10. —6z > 6x + 5(—5 — 4x)



Calculate.

L. 9z + (=5)z < —1(2 — (—4)x) + 6z

2. 8—(—=6x — (=54 (—6)z)) > —4x

3.8 >—(—2—(bx+4))+ (-2)z

4. =3z > —5(—4x — (—6)) — (—2)

5. —x <2(=9—2xz)+ (-7
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6. —x > —(8 —bx) — (—8)x

7. =5 —(—=6z — (b+2z)) > —dx + Tx

8. 3—(—dz —(9— (—4)z)) <22+ (—6)x

9. 22 < =22+ (—9) + 3z

10. =8 > =9z — (=6 + 7x)



Calculate.

1. =22 > 9((—1) + (=1)z)

2. =8 — (—8z — (8 = (—4)z)) > 2z + bx

3. =8z + (—6)z < 9z — 3(—4 + 31)

4. —x <3z +1(3+ (—6)z)

5. =8z > 2z — (9 + bx)
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6. 5(—Tx — (=6)) — (=4) > 1o + (—1)z

7.9 >3 — 2(—8z — (1))

8. —1< 2x—-5—-Tx

9. —2< —1— (=32 — (=5 + (—4)z))

10. —z+ (—6)z < =3 —(z — (4+ (—9)x))



Calculate.

L4z < —(=2+2z)+ (=3)x

2.5— (3z+3) < —8

3.2z 4+ (—2)x > —(4—(—9)z) — 4z

4. 2>1- (52— 3)

5. —(—=1+5z) 4+ 3z > bz
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6. —(—9 — (42 — 4)) + (—6)z < —1

7. 3x+Tx > 1((—6) — (—1)x)

8. 2+ 6(—9z — (—6)) >3

9. - 9— 4z — (-4 —2z)) > —Tx

10. 5z 4 (=2)z > 2z — (—6 + 8x)



Calculate.

1. 8(4 — (=H)x)+8x <7

2. =bx —(—1) =8z > -4z + (-3)x

3. —4(=8+ (—9)x) + (—4)x > -9

4.8 — (204 (—3)) > —br+ Tz

5. 6(4x —9) — 6 < —2z + bx
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6. —b< —-dr—3+zx

7. —(=6— (62 +2)) — (=5)x > —4dz

8. 7w < —8(8 + (—4)x)

9. -4—(4dz—(9—(-1)z)) < bz

10. 1(b — (=5)x) > —x + bx



Calculate.

1.

—6— (—5z + (=5)) < —9z

20 +4x>6—(—Tr+06)

92 < lx+7(=7+ (—5)z)

. —(=8—= (92 + (—6))) — (—3)xr < —bx + 4z

. 8< —(4—(bzr+(-8)))+ (=N
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6. —(=9—(—6)z) — (—6)z < —9zx

7. =6z + (—1)z < —6(8z — (=8)) — 9

8.3 <5(9—(—3)z)

9. Tx + (=3)x <3— (92 — (4+ (—8)x))

10. -8 > —(7T—xz) — 3z



Calculate.

. —(—2—=(=2)z) + 2 <3z + (—8)z

2. 8> 5(9+7z) — (—5)z

3. 8x+7(3—-Tx) <2

4.3 <9z +7(8 —Tx)

5. =(—2z—9)+5> —Tx

Document No.IQP8550016

6. 8 — (—6x — (—5)) < —6z + 2z

7. =204 9x < =7(9 — (—2)x)

8. —Tx > —8(—Tx — (—6)) + (—2)

9. 2z + (—4)x < 2(=bx — (=7)) +2

10. 2z — (=5 —8z) > 9x



Calculate.

1. =9 < —1(=8z + (—6)) — (—9)

2. 8(3x46) —1 < 1z

3.9—-4(—92 - 3) < —Tzr + 8z

4. —(=5—-9x) + (=6)x < =5z + 5z

5. =9< 7Bz + (=7))+ (=7)
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6. —8r+9x > —5— (=9 — (-84 (—9)x))

7.84903x+ (—7)) < -9z

8. 6x +5x > -8 —(—3x — (-9 +x))

9. 5— (=3z — (=3 — (=9)z)) > —9

10. 8< =5+ (—9)z) + =«



Calculate.

1. 9z + (—=9)z > 9z — (=6 + (—3)x)

2. 8r+2x > —3x+ (—9) — 4x

3. 7— (97 + (-2)) < —=

4. 22 > 4(—6 + (—1)z) — 8z

5. =8z — (9 — (—9)x) < 8x+ 9z
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6. 8(—2x —4)+4 < Tz

7. =5(—6x — (—=2)) —2 > —4x + 6x

8. 6> —(—35—2)+7

9. 32+ (=3)x < =5 — (2 — (=5 + (—7)x))

10. =4z + (—9)z <3z — (-1 — (—4)x)



Calculate.

1.3 < —2((—8) — 8z)

2.3x —6—-6x <4

3. 8v — (—2+ (—2)x) > -8z

4. =Tz — (=5) + (—3)r < —4x

5. —6x > 2 — (=3x — (-2 — 2x2))
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6. —2x <9 — (=5x+ (-9))

7. —(—dx + (=7)) — (—8) > 9z + (—6)z

8. 5—(br—(8—(—4)z)) < 4z

9.3 < -8z —(3—2x)

10. —52 < —(=3z + (=8)) — (=7)



Calculate.

1. (=32 —5)—7< 9z + 5z

2. 5(7+ (=8)z) > 9z + (—2)x

3. =92 > —(—=9+ (—6)x) — (—8)x

4 —T—(Ba+(=7)) < Tz

5. =9z + 4z > 2 — 2(—4zx — (—-2))
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6. 9z > —(—=7+9z) — bz

7. =6z > =9z — (7 + 2x)

8. x+4x > —3(—b— (—8)x) + Tz

9. 7o < —1 — 3(4x + 3)

10. 9z — (=6 — (—9)z) < 6x



Calculate. Document No.IQP8550021

1. =52 > 9z — (1 4+ 5x) 6. —(—8 — (=22 —8)) — (—6)z > —bx + 8z
2. —T(4+ (=5)z) < 5z 7. =3 — 6(=5z + 6) > —dz + 3z
3.3—(—4z—(-1)) <6 8. —(9—z)—4x <7z

4. =9 < bx —(—4)+ 2z 9. -4z >6— (3x —9)

5. —dx + (—4) + 6x < —Tx 10. 22 > —(9— (=42 — 7)) + (=8)x



Calculate. Document No.IQP8550022

1. —2(92 —3) — 5 > 8z + 8 6. —9x < 2(3z + (—8)) — 3

2. 1(=2 + (—4)z) + (—=9)z > —1 7. =7~ (—4z — (=6 — 62)) > 9z + (~7)x
3. 7—9(x +6) > 8 8. —1—(z—(3—4x)) <5z

4.3z > —9(4 — 3x) 9. —x+8— (—8)x < —2

5. —4(—z+(—6))+7 < Tx + (—1)x 10. —=(8x +2) + (—1) > 9z



Calculate.

1. =6z + (=T)x > 2+ 7(—x —38)

3. 6 <4— (8x — (84 (—8)x))

4. —6x > —4x — 1(7 — 4x)

5. —9> 3z — (—9— (~2)2)
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6. 2 —(b—Tx)>Tx

7.8 —(1—Tzx)> Tz

8. —6(—z +7) — (=5) > —x

9. —6x + (—4)x > 1o — (4 — 8z)



Calculate.

1.3z +42 < —(3x+2)—3

2. —8> 1 (52 — (—6 — (—9)1))

3. —dz > —3(x + (=2)) — (-1)

4. 2+ (-T)x > -8 —7—4x

5. =8 > —(1+48z) — (—9)z
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6. 8— (—22—(-9—(—6)z)) < lz+ (-3)x

7. =br < —(4+ 6z) — 2z

8. —9x >7—T7(—2x+2)

9.9—(—z—(5+T7x)) >4

10. 4z + (=5)x < —6x — (—4) — (—9)x
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1. —2(3 — (=5)z) < =2 6. —4 < 5((=5) + (—3)z)
2. —7> 2z — (3+ (—3)z) 7. —(8 — (—8z — 5)) — 3z < —2
3. —8 4 3(6z +8) > 2 8. —2r < —(—5z —5) —5
4. —(=1—=(z —5)) + 9z > —5z 9. 1> —5(2z + (—3)) — 2

5.3— (=92 + (-8)) <2z 10. =7 — (Tz — (-1)) <4z + (=7)z



Calculate.

. —(2—-32)+ (-2)z > 4

2. 2 +4x < —1— 9(—4dz + 2)

3. —z+ (—3)r < =2 — (—5x — (—2 + 8x))

5. 92 4 b5z > 3 — (—=hz — (—3))
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6. bz + (—4)x < 7— (=Tz — (—1))

7. —-1—(Tx+(=7)) <4z + 6z

8. —3—(2z—-2)>8

9. =5z + (—8)x < 6 — 9(3x + (—3))

10. —bzr < —8(8x —4) —3



Calculate.

1. 9< —6(8—Tz) — (—9)x

2. =5x>—(—4—(=Tx—5))— (—Dz

3. =5 > —(—7— (92 + (—3))) — 2z

4.6 < —(v+(—4)) —4

5. 22 +6(9 + (—8)z) < —4x + 6x
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6. —3 > 4a + (—8) — bz

7. =9 — 6(—dx — (—4)) < =5

8 —dx — (T+ (-9)z) <4a + Tz

9. 3z —4(—9+ (-3)x) <8z +=x

10. 8z 4 5(—4 — 6x) < bz



Calculate.

1. —9>8— (22 — 6)

2. =7z + (=5)x > 1o+ 5(—3 + 3x)

3.6 —5—5x>3

4. 9 < =22+ 4(—-8+ 2x)

5. —4+7(=Tx + (—4)) > 3z
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6. —3— (=Tz — (9— (—9)2)) < 5

7.4z —3— (-4 <7

8. —7x > —9((—1) + 8z)

9.3— (b — (=8 —(—2)z)) < 8z

10. —8z — 4(8 4 5z) < 2



Calculate.

1. 2 < 4((—4) 4 6z)

2. =z +(-1)—-7>-1

3. 2 —T7T+3x < -9z

4. 8z + (—4)r < —bxr — 9(4 — (—8)x)

5. —(=5— (2 —(—2))) + 4z > —x + (—6)x
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6. =9 < =7 —(—2x — (8 — (—=H)x))

v

—7

7.3 (—2z+2)

8. —8r+ (—Tax<—(-2—(=Tx—2))+ (-5

9. =4 > 9z — (2 - (—3)2)

10. 3z < 6z + (—4) + (=5)z



Calculate.

1. 5< —x+46(—2+ 3x)

2. = 1+7(Tx+(-9)) < Tz +2z

3. 204+ (=5)x < =4 — (bex — (=5 —x))

4. 4x + 21 < — (=92 — 2) — (=3)

5.3z —5(=3 —(—1)z) <9z + bz
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6. 3<6— (3z—(=5))

7. =5z > T((—6) + Tx)

8. 8z < Tx — (—6 — 6x)

9. 4z — (-9 — (—2)z) < =9z

10. =1(5+ (—=5)z) < 3z + 8z
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1. —7> —2(6+ 9z) 6. 1> 3(—4x + (—8)) +9
2.8> —(92+5)—8 7.3 < —(—dz — (=3)) - 2
3. —7(2+32) < —z + (—6)z 84— (—x—4)<—4

4. —6x 4+ 8(—2+ Tx) > 8z + 8z 9. 92 < —(1 —92) — (—4)x

5. 4z 4 (—4)x < 9(—2x +2) + 4 10. Te + 8 < —(4a —T7)+ 7



Calculate.

1. =72 +3x > —(—8x—9) — (—8)

2. 9z < —3((—2) + 9x)

3. —(7T— (22 — (—6))) + 92 < —2

4. 2 < —4x — (3 —3x)
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6. —Tx > —(—4—9z) + 2z

7. 3x +8x >9 — (—6x + 3)

8. —6 < —Tx — (9+ 92)

9. 22 —6 — (—2)x < =9z + Tz

10. =9 < =92+ (1) + (=7)z



Calculate.

1. 8> 9 — 6(—6x +9)

2. 3 < -9+ (—6)z) — (=T)z

3. =2(-8— (1)) +T7x <-4

4. —6x+9 —8x < —Tz + 62
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6. 3x > bz +5(—3+ (—1)x)

7. 8z < T+5(22 — (=7))

8. —3x + 6z < 2z + 5(—4 + 32)

9. —(—92 — (—4))+ 9> 2z + (—7)x

10. =9 > —2(4z — 5) — (—4)



Calculate. Document No.IQP8550034

1. —8— 8z — (=9 + (—4)z)) > Tz 6. 5> 1— (62 — (=9 — 3z))

2. 6> —1(4z — 8) + (—4) 7. 7> —8(6 —x) — 9z

3. 2> —2((—4) + 9z) 8. —(—9 — (—9z — 1)) — 62 > -8
4. 92 4 (=5)x < =5z — T — (—4)x 9. 8z + (—3)x > —3x — (=7 + 4x)

5. —dx+ (—1)x < —(—2z+(-9)) =7 10. =92+ (—9)z < —(—8x —8) —5



Calculate.

1. 22 — (3 — (=6)z) > 6

2. —6< —7— (22 + (—3))

3. -5— 8z —(—1—92)) <9

4. =20 4+2+8x < 6x + (—7)x

5. —T>2—2(—3z — (—4))
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6. —6x > -8 — (x — 8)

7. x+6(6—5z) < 6x

8. dx < —5(=Tx — (—8)) + (—7)

9. —(=3 — (—4z — (=7))) — (~D)z < 4z

10. —2 > 8(—6z + (—3)) — 3



Calculate.

. 9z +6xr<—-3—2)—(—2)z

2. B+ (—4)x>2—(r—(—8—8x))

3. 4+ 8(1 —bx) < —bzr +4x

4. =9 > Tx — (4 + 9x)

5. —1—(—6z+8) >3
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6. 5> -3z — (5—(—8)x)

7.3(—8+31) —x < 2

8. -9>—(7—8x)—=x

9. —8 < T(—x+8) — (—8)

10. 6z > —(—1—2z) 4+ (=2)z



Calculate.

L. =509+ (—9)z) —2 > —z+ 2z

2. x>8x— (=7+(—6)x)

3. —(—=6x — (—1))+ (—4) > -2z + (—H)z

4. =5 > —6x — 7(4 + 5x)

5. =4 — Bz — (7= (=3)z)) > —Tx
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6. —(—x+6)—(—1) < -6z + (—4)x

7. —(8=6z) — (—2)z > —bx

8. 6z >1—1(3z+ (—5H))

9. —z+ 9z > —9(5 — (—-9)x)

10. =5z + (—=7)z > —(—8z — 9) — 4



Calculate.

1. =3z — (=14 (—4)z) > 9z

2. —1(—8—=3z) — (—6)xr > —3x

3. —3> —6+5(—6z — (—3))

4. 13+ (=2)z) — 9z < 8

5.9 — (624 (—9)) <6
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6.

—9zr +1(-1—(-7)z) > 1

e 43 >T— 3z —(1— (=7)2))

—8— (=22 — (84 (—=9)z)) > —1

C22—8(1—(—=1Da) < —3

10. 3 —6(—52+9) <5



Calculate.

1. 1>-93+ (—-1)z)

2. —(dr —4)+2> -7

3. =2z + (—8)x > — (=3 — (—1)x) + (—6)x

4. —(z+(-3))+2>2

5. 44503z + (—6)) > —6x

Document No.IQP8550039

6. 7Tz > 3+ 3(4z + 9)

7. -2 — (b — (-8 —8z)) < —2x+ Tx

8. 4x < —(bz+9)+6

9. —5(4 — bzx) < 62

10. =5z + (=6)x > —1(2 + (—3)x)



Calculate.

1. —4— (=5z —1) > 2z + (=5)z

2. 5x > —1—4(4x — (-8))

3. =8z +8x > —5—(—8x+ (—5H))

4. =7((=5) — 9z) < —4z + 8z
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6. 44+ 6(—x+1) <br+ (-9)x

7. —4(=5z 4 (=9)) —4 > Tz

8. —(=3+ (—4)z) — (=T > Tx

9. — (=44 (-2)z) = (-3)z < =5

10. —=(=3—=(=7x—=2)) — (=7)x > -9z



Calculate.

1. —6 — (62 — (=8 — (=8)z)) > —6

2. —x < —6(-3x+9)+4

3. =Tx > —-5—1(bx —9)

4. =6 > 3x — (—6 + 8x)

5. =8>8z — (2 — (—2)x)
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6. —9 < —d(—x+ (—6)) +2

7.4>3x—(=2)+x

8. br + 8xr < —2x — (—6 — 8x)

9. =2z 4 (—8)x < =8 — (4x — (—2))

10. 9— (=924 (=3)) > Tx + (1)



Calculate.

1. =5z <1—(—4z—(4—2x))

2. =5((—9) + z) > 6x + 3x

3. 3 —(-9)—(-Hr<-Tr+zx

4. —(=3— (5 +38)) +2z > —x

5. 62 < —6((=2) — (—5)z)
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6. —2(2+6x) > -8z + (— 1)z

7. —6(3 — 9z)

IA
%

8. —2+2(—92+6) > Tr +4x

9. -4z —5— (—6)x < -2z

10. 2 — 2z +(=3)) > =Tz + 3z



Calculate.

L =7(=92+3)+4<3

2. —1 > 6(—2z + (—8)) — 1

3. 6—2x—(7T—(-2)z)) > —=x

4. —(4+ (—4)z) + (=6)x > =3z

5. bx+4x < —(—=3— (62 —2)) + (—7)x
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6. 9x 4+ 62 > 9 — (7Tx — (—8))

7. =7(—2x —5)—(-2) > —=x

9. -4 — (=Tx — (-1 - (—4)z)) > —bx

10. —1 > —1((=7) + 2x)



Calculate.

1. —8+4(=9z + (=7)) > =5

2. =3(2—6x)+ (—T)x > —Tx

3. 5> -8 (—z—(=T7))

4. 9((=8) — 7z) > 8

5. 2r — (—1)—4dax > —c+z
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6. —6>2— (62 — (4 — 6))

7. Tx > =5 —T7(5x +4)

8. 8 < —4x —4(6+ (—T7)x)

9. —8(2 —4z) + 8z < —bx + bx

10. =3 —=(x4+9)) + (—4)z < 8z + (—4)x



Calculate.

1. —(3z —8) — (—6) > 2x

2. 2> 8z — (5+ (—2)x)

3. = (64 (—2)x) = Te < —Tx

4. 6z + 2x < —6x — 3(7 + (—2)x)

5. 92+ 92 < —4 — (=92 + 6)
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6. —6((—6) + (=5)z) < —1

7.50+x>—(2—8zx+4))+ (1)

8 —br+1—4x < -6z + 9z

9. 6 < 6z — 1(—6 + (—6)z)

10. =(=bx — (=1)) + (=7) > lz + (—8)x



Calculate.

1.

—8r+x>—7— (22 +6)

Chr4dr > —(1—(=2)z) — (—1)z

. —5 > —bx +4(—2 — 9x)

. —dx +5x < —(—4x+5)—3

204+ Tr < —2x—9(3—(—1)x)
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6. —(=9+ (—2)z) —z > -8

7. 9(3z + (=9)) — 6 > —6a + 6z

8. x—(6—(—9)zx) <8

9.2>8— (=5z — (—1))

10. =7z — (8+ (=5)z) > 5



Calculate.

L. —(7T+ (-Dzx) + (=8)x > 2z + 6z

2. —2> —(=5— (=3z—7)) + 4z

3. —bx4+3r <8(-3zx—-1)+1

4. 7(6 + (—=7)z) < bz + 6z

5. —2z > —(—5z — 8) — (—5)
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6. 4x > —(—z — (—1)) + (-9)

7. -4 < —(=9+ (—-3)x) — 2x

8. —(6+46x)+ Tz < 3x

9. 2+ (=3)x >4 — (-3z— (1+ (—6)x))

10. 5> 8z — (6 — (—=7)x)



Calculate.

1. —(9— (32 +8)) — (—=3)z > 3z

2. 1(—z+4) — (—=6) > 62 + 3z

3. =92+ (-9) —4x > -3z +=z

4. 3z — (—-3) -8z < —x + 3z

5.2—(=bx—(-b—x)) <Tx
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6. 4z + 9z > —(—8x +5) — 7

7.3 — (=bx + (—4) < —x

8. —8 >4z — (8 — 3x)

9. 8> -9+ 9+ 4x

10. 5 — (—8z — (6 — 62)) < 4x + bz



Calculate.

1. 6 < —2— (z — (—4))

2. 1 — (7+8z) >3

3. 5w <5 — (a —2)

4. —6(—8+2z) — (—9)x > Sz

5. —(=Tz+4)+ (—4) > =5z + (—3)z
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6. — (=8 — (b —(—4))) — (-l < =Tz

7. —4z < 6—3(8z + (—2))

8. —5+2(x + (—6)) > -2z

9. =7T—(-3z—(3+4x)) < —4

10. —1 — (—8z +4) < =5z



Calculate.

. =8z —(—6)) +7 < —bx + 4z

2. —(-14+(-"Na)+Tx < 4o+ (-T)x

3. 22— (=1)+ (=9)z > 2z + (-H)x

4. —(9+ (-8)z) — (=bH)x > 2z

5. 4—(x—(7T—(=8)x)) > 2z
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6. —z— (9+8z) <4

7. —62 > —8(9 — (—1)z)

8. 8> —4— (—4dx + (—9))

9. =(—2+2)—-92 <3

10. 7Tz + (—=8)x > —3(—6x — 7) + (—8)



Calculate.

1. —4(z +5) — 1 < =9z + (—4)z

2. B+ (—9)x > 1(7T— (—4)x)

3. —4—-6(22z —2) < —4a + 6z

4.3— bz +7) > —8x+ (—8)x

5. —(—3z+4(—4)) —4 <3z + 2x
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6. —(8x+8)+ 7> —6x

7.5~ (—8x + (=5)) < -8

9. 52 4+ (=3)x > 92 —7— (—4)z

10. —(2z — (—6)) =8 < —1



Calculate.

1. =3(3—(—6)r) > =3z + 3z

2. —Te+6(—8—2z)>7

3. -6—(-1)z)+ (—4)z > —=z

4. 4x < —(=7—(=8)x) + Tz

5. 5(=1+bx)+ T > -2z
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6. —62 + (—3)x <8(—3 — (—T)x) — 4z

7.-1—1(-z—9) <2

8. 1(9+62)+ Tr < —6x + (—1)x

9. 4z + bz < =93z — (—9)) + (=5)

10. =3z + (—=2)z < 14 8(9z — (—4))



Calculate.

I. (-1—(7x+6)) — (—-1)z > 8

2. 3(3+6x)— Tz >3z

3.1—Bz+3) > -9+ 9z

4 —3> —6— (92 + (—4))

5. —6x + 5(—5 — 6z) > —8x

Document No.IQP8550053

6. br — 4(6 — Tx) <5

7.6> (=3 — (=97 — (=5))) + (~9)z

8. —(6—(=bx+(-2)))+ (—1)z >2zx+8

9. -1 > —-9(3 —4z) — 3z

10. —(=9— (—4x —5)) — (—6)x > —4x



Calculate.

1. —(4z + (=3)) + (—6) > —6x

2. =7(=b—x)+ (=6)x > Tz + 8z

3. 2(—6x—9)—3>9

4. —(=Tr —(-2))+2 < -2+ (—2)x

5. 3x < —(—8—Tzx) — (—4)x
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6. 3> —(—4+(—1)z)+ (—2)x

7.1>—6— 2z — (=7 —9x))

8. 20 < —(—Tx + (~2)) — 9

9. 92 >1lr+1—-(-1)z

10. =Tz + 2 < —x+4(9— (—8)z)



Calculate. Document No.IQP8550055

1. =3 < —(=9 — (=62 +6)) — (~2)z 6. —8 — (6 + (—4)) > —2
2.2>-1((-2) + 7T2) 7. =3z > —x+6(4 + 22)

3. —6— (—8r+(-3)) < —1 8. —Tr < —8—(—=8z — (4—(=7)z))
4. 3> 51 — (2 - Tz) 9. —3 < 5(9 + 2x)

5. 81 — (=9 + (=7)z) > —2 10. 8z 4 62 < —(—=9 + (—4)z) + (—8)z



Calculate.

1. -8 < —(=5+(—=5)z)+ (—6)z

2. 20 — (=3 + (—2)z) < =5

3. =3> —dx — (=3 + (—1)x)

4. x+3x>7Ter—(-3)+ 9%

5. =3 —(5x — (=3)) > Tz + (—9)x

Document No.IQP8550056

6. "4 +7—8x >8

7. =5(=bx + (=8)) + (—4) > 2z + (—8)x

8. —8— (—4x — (-6 —(=1)z)) >6

9. =6z + (=7 > — (=9 +9) + (—7)

10. 4z + 3(—1+5z) < 3z + (—2)x



Calculate.

11— (42— (—-1+(-2)x)) > —4

2. —x+ (—4)x > 22— 1(-3 — (—9)2)

3.4—(—8z—8) <2z + (—8)x

4. 9x < 4dx — (—4 + 6x)

5. 2492 < —1—-5(—=Tz —5)
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6. 7(9+5z) > 4

7. —6x > —(3x—3)— (=7)

8. 7—(—2zx—(-3)) > -8

9. —4 <4z — (-2 —4x)

10. =8 < —2 — (52 — (5 + 9z))



Calculate. Document No.IQP8550058

1 —(3—(-2+8)— () < -z 6. 20 — 4+ (—3)z > —9
2. —x —1(=8+3x) > —Tx + (—=9)z 7. —(—1—3z) — 8z < 4z + (=3)z

3. —(9+ (—1)a) — 7z > 6z 8. —(=3 — (=92 — (=9))) + (=B)a > —=x
4 8z — (2 (—=T)x) > —22 + (—-2)x 9. —9z — (=2 — (=5)x) < —8z + (-T)x

5. =8z — 9+ 5z < 6z 10. —(6x —5) — (=3) > =9z



Calculate. Document No.IQP8550059

1. 62 > —7(—4x +2) + (-8) 6. —8z < 6(—7+9z)+ 9z

2. —7T< -4+ (-6)x) + (—2)z 7.3>-3—(=8x—(=5+(-H)x))
3. =97 — 7(—6 — 5z) < 6z 8. —(—8z+(—1)) +6 < —2z

4. 3(—=9z — 3) — (=8) < 2 9. 8z + (—=5)x > —8((—9) + 4x)

5. —(—4—(z—(=2)))—22>5 10. —(5 — 22) + 6z > —1



Calculate.

L. 62 +4x < =Tz +1(3+ (—3)x)

2. —(—xz+7)+(=5) > -8

3. —(=5z+(=8)) +(-9) > —bz + (—5H)x

4.2 < 6x —1(4 — 8x)

5. =2x +4x > —(9z — (—4)) + (-5)
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6. br +8(—4—x) <7

7. 1(=7T—Tz)—22 <8

8.8>-9(x+3)+38

9.2> -9z — (8+ (—5H)x)

10. 5z > 9z 4+ (=8) — (—4)z



Calculate. Document No.IQP8550061

1. —(6+4z) — 5z < —3z 6. 9> 9(7 — (—8)z) — (—2)x

2. —1— (—z+(—1)) < 22+ 2z 7. -3 <6— (=22 — (7 —3z))

3. 7w+ (—4)z < —1((—8) + 4x) 8. —(1—(Tz — (=2))) — 9z > —2
4. =2((=3) +x) > 2 9. —da + (=5) + (—8)z < —2u

5. =6z + (=5)x > —(9z + (—9)) + (—2) 10. 2— (8z — (2 — (—6)x)) < Tx + 4x



Calculate.

1. —(5—8x) + 9z > 2

2. 4x > =20 —9(4+ (—1)x)

3. =6 — (=5x — (=5)) < =5

4. —(8z 4 (—3)) + (—6) > 4x

5. 2>Tr+2—(-2)z
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6. 62+ (—9)x < Tz — 3 — 8z

7.-2>—(4+ (-8)x)+ 8z

8. 1+3(6x—1)< —x

9. —6 > 8+ 9(—6z — (—3))

10. 7(—=92 — (=5)) — 7 < 8



Calculate.

L.z < —(=5+(-1)z) — (-5)x

2.3—(4z—(1+(-6)x)) <62+ (—6)x

3. 6— (5z — (=5 —8z)) > 9z

4. =9(—x — 1)+ (=5) > 9z + 3z

5. =3>8x — (-9 — (=T)x)
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6. —6 < 3 — (6x +5)

7. 30— (9 — (=T)z) > —1

8. —4(—6x+7)+4< 204 Tx

9. 7x > =3 — (2 — (=3 — 3x))

10. 1 >3 — (—dz — (=3 — (=9)z))



Calculate. Document No.IQP8550064

1. 4> —3(3z +9) + (-2) 6. —3z + (—4)z < 1z — 8(8 + (—7)z)
2.6x>—-2—-(—2z+1)) —4a 7. -1>—-7—(—6x—(-2))
3. 4< —-4— (32— (-5+(—2)x)) 8. 4z > bxr — 6 — b

4. =924+ 92 < —(-9— (=Tz+ (-2)) — (=9)x 9. 8z +5bx > -2 — (—9x +4)

5. —4—(3z—-7) <3 10. 1(8 — (=7)z) > —1



Calculate.

1.1<—(6—(—-8)z)—3x

2. 7> (=3 (=92 — (—8))) + (-3)z

3. —x < -8+ 8(6zx + (—6))

4. 92 > 3(b — (=T)z) — (=7)z
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6. 9(1—(=7z) — (—=Tx < 2z

7.8 —1(9z+2) > —1

8.924+9r < —(b—(—92+38)) — (—1)x

9. 224+ 4z) — (-9z < 2x+ (—1)x

10. 7Tz + (=2)z > —1 — (4= + (=8))



Calculate. Document No.IQP8550066

1. —4x < =82+ (=8)x) + (—4)x 6. —(924+9)+6 < —4

2. 22 > 5(—51 — (—6)) + (—2) 7. —2(3+Tx) < 22 + (—4)x
3. —2 < -3z —7(8 — 8x) 8. —9— (92 —9) < —dx

4. 5((=9) — (-8)z) > —5x 9. —7(9 — (=5)z) < Ta

5. —=(6—=(=3z+(-2)) — (—4)x < 4 10. 8z — (=74 (—2)z) < —2z + bz



Calculate. Document No.IQP8550067

1. —4— (3z+6) < —5z + 6z 6. 5z + (—2)x > T — (—=7z — (9 — (=7)x))
2. 60 < —3x + 1(2 + 52) 7. —1 < =5z — (1 — 4x)

3. 7(92 + (—=2)) — 7> 6z 8. —2> —(4+3z)— (—1)z

4. —1((=1) + (—6)z) < —2 9. —2((=8) + (—9)z) < dz +a

5. 2048z > —-5— (92— (1 —2x)) 10. 42 + 9+ 42 > —4x



Calculate.

1.

—x>—(1—(4x+2)) — (—4)z

. —8—(—8x—(-3)) <5z

8r—(1+42) < —z+3x

(1= (=B — (-8) — (4w = 1

. —(—2—=6)+(=5) <9z + (-1)z
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6. 9z + (—2)a < —63 + 1(—6 — (—4)z)

7. =bx 4+ 6x > 5 — (—Tx + (—6))

8. 3(=7—9z) -6z >5

9. -z —2(6+ (—1)z) < -6

10. =7z + 3z < —6z — 9(5 + 22)



Calculate.

1. =6z + 42 <9z —2(5 + (—8)x)

2. 76+ (=Tz) — (=5)x < -7

3. x <6z —(—4)+ 2z

4. =1 < —x = 5(—=5—(=3)x)

5. =bx + (—8) — (=9)x < —Tx
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6. =4z + 4z < =5(9 + (—9)x)

7.3—(=br — (-T+72))

A
L

85— (92 +8) < —6x+9z

9. 9z < —dx + 1(—3+ (—3)x)

10. =4 < —(—z+1)+(-2)



Calculate.

1. -4 <7z — (-8 —(=5H)x)

2. —8 <9 — (da + (=7))

3.6 —(—2z—(—1)) < -8z + bz

4. =8 — (z — (7+ (=5H)x)) < dbx + (—-9)x

5. =3z > —-9(5+ )
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6. 8¢+ (—1)x > —bx — (2 — (—9)x)

7. Tz < 6(4 + bx)

8.3>8+5(—x—4)

9. Tx+7(-5—-9z) > 8+

10. =2z 4+ 2x < — (54 2x) + 3z



Calculate.

1. =(=6 — (=bx — (=5))) — 9z < 6z

2. —1(—6zx — (—4)) +5 < —6x

3. =92+ T7x > 2z —(—9) + 2z

4. dr + 22 < 8(7T+ (—4)z) + (—=7)z

5. =9z > bx + 2(4 + Tx)
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6. =22 — (—4) + (—2)z < 4x + 62

7.6+ T7(7T+2z) <3z

8. 9(—3+9z) — 3z < 5z

9.2 —9(Tx + (=7)) > -8z

10. 7z + (=3) — (-9)z < 1z



Calculate.

1. 6z + (=8) + bz > 3x

2. 7x 4+ (=3)x > -2 — (=92 — (-3 — (=5H)x))

3. —6<8r+1+T7x

4. —Tx — (4+6x) < Tz + 9z

5. =8z — (9 —2z) > -2z
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6. —2> 1(5 — 9z) + b=

7. =7T=20bx—-1)>9% + (—-7)z

8. 3z +3x>8—T(—Tx—9)

9. =6z — 2(9 — (—1)z) > 6z + (—4)z

10. =92 +2(1 —8z) > -2z + (—1)x



Calculate.

. =(1=5x) — (=4)x > 3z + (—6)x

2. —6(7z + (—6)) — (—4) > 6z + (=5)z

3. —4(5 — ba) < —9

4. —(-8—=5z)+ (—2)r < =3z + 8z

5. Tx + 22 < 9z + 7(3 + (—3)x)
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6. —(3—4x)+8x > —6z + (—6)x

7.6 > —(—9— (—dz + (=9))) — 9z

8. —z>—(8—(bx —4)) — (—6)x

9. 2z < —8(5z + (—1)) — 3

10. 4 > —(=9z — (=3)) + (—9)



Calculate.

1. =324 92 > —(—6 — (=5)x) + (—8)x

2. —-1—(—z—(=6+(=7)z)) > 9z + 9z

3.3+ (—8)x < =7 —3(Tz — (—2))

4. —8z < 6(1 — (~2)x)

5. 9z > —5(—5 —8z) — (—6)x
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6. =5 < —(—3—8z) — (—9)z

7. —8 < —(2+ 5z) — 2

8. —4 < 4(8 + 9z)

9. =92+ (=3)x > =3z + 4(—4 + (-5)z)

10. 3(4 + (—1)z) — (=5)z > —7



Calculate.

1. 4o < =2 —3(6x + (—9))

2. —(—=1+(-2)x) + 8z > 4z

3. 8r>—(8—(z—(-8))) + 9z

4. —8+46(6x — (—=5)) > —x + bz

5. —4+8(2z+7) < 9z
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6. 2(7— (—4)z) < -5

7. bz + br < —8(6 — 3x)

8. —9 > —(—6z +6)+ (=7

9. —1(=3xz—(-3)) -8 < 1z

10. =7z >4z — (2 — (—4)x)



Calculate.

1. 92 > 8 + 7(—6x + 6)

2. =(T— (=2 +6)) + 5z > =9z + 4z

3. 9—1(9z + (=7)) > -2

4. -3< —(=Tx —=T7)+ (=8)

5.9— (—5z + (—1)) > —x
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6. —3+2(9z —(—=1)) > 92+ (-3)x

7. =br—(3—1xz)> -8

8. 2x > —6x — (—9) + Tx

9. —(3— 9z +4)) + (~1)z >8x +

10. —z > —4 — (4z + (=8))



Calculate. Document No.IQP8550077

1. 80z +(-9)+7< —x 6. =3(=Tz+(=9))+(=7) > -z + (—1)x
2. 5(9+5z) < —x 7. =8 > 1z — (T+ (—6)x)

3. 4z + x> —dx — 6(1 + (=7)x) 8. —Tx <5 —8(9r — (—4))

4. 5z > 9+ 3(—9z — 3) 9. 7(—2x — (=5)) — (=2) <5

5. —(6 — (=Tz+ (—9))) — 62 < =3z 10. =4z < 9(—x + (=7)) — (—5)



Calculate.

1. =5 —2(5z — 3) > —2

2. —(=62+8)+ 1> —do+ (—8)x

3. —A(=3z + (—4) + (=7) < Tz

4. r+ (—=9)z > —4(—8z + (—7)) — (—6)

5.2 < =2z — (3 —x)
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6. 2 < —7(9z + (—4)) — (=3)

7. —(=92 —3) + (-8) > -4z + (—06)z

8. 3z —(—4+ (—8)x) >5

9. —5 < 8((—2) — (—6)z)

10. 3(4 4 72) > 4



Calculate.

1. 6—(—3z+38) > 6z

2. =92 — (3+2z) > -3z

3. —Tx 4+ 2(6 — 8x) > 6z + 4z

4. =7—(Tx — (4+ (—2)x)) > =7

5. —(8 — (—8z — (=7))) — 3z < —6a + 2z
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6. =6 <1— (=bzx— (7—Tx))

7. 8¢ —5(8 —4x) <2z + (—8)x

8. 3x < =9z — (=5 + (—8)x)

9. 3z < -3 — (5x — (—2))

10. 7z > —(24 (—1)z) — (—8)x



Calculate.

1. 6 +3x < =7(=5 — (—=6)z) — (—7)x

2. 7< —(5x+ (=5)) + (-8)

3. 4x > 62 +2(—6 — (—6)x)

4. —2 < 5((—6) + 8z)

5. x+4dx > —(do+7)— (—=7)
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6. 7> —(1— (4x + (=3))) — (—6)x

7. 6(2+ (—4)z) > 5z

8. —6(7— (—8)z) < -2

9. =6z + (—1)x < —4z — (3 — (—4)z)

10. 2(1 4+ (=5)x) < lz + (—6)z



Calculate.

I. —(7— (92 +4)) — 8z <8z + (—H)z

2.38—=(—1)z)+3x <2z

3.8>8—(—4z—7)

4. —7((—-8) — (—9)x) > 1z + bz

5. Tz > —x + 1(3+ 3x)
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6. =8z +9(—1— (—3)x) < —4x

7. —4(4+ (=5)x) + 22 > -9

8. —(8+6z)—4x <5h

9. 4 > =3(—x —6) + (—4)

10. 9z + (=H)z < —x — (—1 — 4x)



Calculate.

1. -4z 4+6(—1+ (—6)z) < =3z

2. 4r < —(—4— (62 +3)) — 3z

4. —8x +bxr > —6(—8x + (—9)) —4

5. =4 > 5(=5+3z) + (—8)x
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6. 3(—1+bz) — (—6)x > 3z

7.8< —8(—92+3)—9

8. —6>—T— (62 + (—8))

9. -1 < -2z +9(—8 — 2xz)

10. 8z > —(—x — (=5H)) — 4



Calculate. Document No.IQP8550083

1. —(=3z — (=2)) — (—6) > 1 6. —5x + (—6)z > —8(—4 — 22) — 1z
2. —6z + 8z < 4((—5) + 4x) 7. 1((~1) — (—6)z) < —92 + 3

3. 1— (2 — (=5 + (—6)x)) < 3z 8. Tx— (3—(=5)z) > 4w + Tz

4. 8z > —(4 — (=6)z) — 5z 9. 8 — (6z +5) > bz

5. T+ (=7)x > —(bx + (=7))+3 10. —(—4+6x) + (—4)x >4



Calculate. Document No.IQP8550084

1. 3z < =2 — (92 — (—6)) 6. 2+ 1(—5x —8) > —4x

2. =92 > —(2— (92 — 4)) + (-9)z 7. 50+ (—1)r < —Tx — (=3 + (-8)x)

3.2+ (—8)xr < —(—6—(—8x—(=5))—2z 8 —6—(-3x—(9—(-9)x)) > Tz

4.9—(—x+9) > 2z +2x 9. —1(—8—(=3)z) —Tx > 38

5 7(7Tx — 1) — (—-8) < —4 10. —=5((=5) +9z) > —x + (—8)z



Calculate.

l. 32+ (-3) —x < -2z

2. 2z + (—6)x > —9(—9 + (—8)z) + 8«

3. =62 <9 — (22 — (4 + 3x))

4. -9 <7(1 =b5z) — (=3)x

5. 4> —3(—8x — (—4)) — 2
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6. =32 +5(—14(=5)x) > -8z + Tx

7.5z + Tr > 8z — (4 — bx)

8. —3x > —3(1 +4x) — 62

9. =92 < —(7T+ (—6)z) — (—9)x

10. =2(=2 — (=6)x) — (=8)z > —3«x



Calculate.

1. 34— (=7x) > -4z + (—1)z

2.8— (=T — 54+ (-2)2)) < =3z+ (—1)z

3. —2<8(—8x—1)+2

4. —(4+ (=6)x) + 22 > bz + (—8)z

5. —846(8z — (=7)) < —3
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6. 3+ 4(6x — (—5)) < =Tz + (—=3)x

7. dx + 3x > =9z + 5(6 + 2x)

8.6—(4dx+9)>—x

9. 7— (=7z+(-3)) >3

10. —1(1 4 3z) — (—8)z < —2



Calculate. Document No.IQP8550087

1. 4 — (—4x — (=6)) > 7 6. 8z > 3(3x 4 6) — (—1)

2. 9z < 5((—1) + 4z) 7. —2(2x —9) +4 < —dax + 2z

3. —(—9 — (—62 — 4)) — 9z < 5z 8. —9r — (3+x) > 9z + 9z

4. —(1— (92 —8)) — (~=T)x > —4 9. 9z + (=5)x > 1(=2z — (=7)) — (—1)

5.3—2(—8x —5) > 6x+ 2 10. =6 — (22 — (6 — (—1)x)) > 8z + 8z



Calculate.

1.

—2r+ (=Nz>-9— (-8 — (2+ (-7)x))

. —x+ (—6)z

. 8>8— (52 — (—8))

=2+ 92 <5x — (=7+ (—4)x)

. br > 9x — (—4 — 6x)

> —(—8 — 82) — 0z
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6. 3z — (24 (—H)x) < —4x

8. —(3— (62— (=3))) — (—6)z < —9z

9. 3(—4 — (=9)x) + (—6)z < 2

10. =22 >3 — (—=7z — (=5))



Calculate.

1. 8 —3+z)<—4

2. = (=24 (=5H)x) + 9z > -2

3.8 < -2 —(—x— (—8+6x))

4. -9z —1(-7—-2x) < —dz+z

5. =5 < —8 4 3(—6x — 4)
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6. =92 + (=7) + 9z > 62

7. —4(—2— (=1Dx)+ (-7)x < =9z

8. 2((—9) — 8x) < —Ta + 8z

9. —x + (=5)x > —6 + 3(—bz — (—3))

10. =7 < —(8 — (=5z — (=5))) — 6a



Calculate.

. —(=9 —2x) — (=5)x < 6z

2.9 > —9 — (=92 + (=2))

3. —dz — (—1) + 2z > —6

4. 4r +5x < 3z — (=9 + (—9)x)

5. =3z + (=7)x > 2(4 + 3x)
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6. 4((—7) — (—4)z) > 1o

7.3+ 1—(—=9)z <5z + (—8)x

8 33z +(—6)) — 1> -2z + (—4)x

9. —5 < 6z — 3(1 — 9z)

10. 7< =3 — (=52 — (1 — (=5)z))



Calculate.

1. —9>—2+1— (-2

2. 3<6r+(-5H)—x

3.9— (22— (—1+(-1a) <8z +Tx

4. =1 >4x —2(-5+ (—1)x)

5. —x>1—(—2z— (1))
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6. 6 —8(5z — (—9)) > 2

7. x> —8(4 + 4x)

82— (=Tx — (b —(-2)x)) > 3z + 4w

9.8<4—(z—(8+(—H)x))

10. 3(9 + 27) + (—4)r < =67 + (—6)x



Calculate.

1. —4 < =5z — (—6 + (—4)x)

2. —(1—(8z+38)) — 6x > 9z + bz

3. -9+ (-1)z) — (=5)z > -9z

4.5 =36z —7) > Tx+ (=5

5. =2z +3 — (—4)z > 6z
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6. —(4z + (—1)) + (—=9) > 4z + (—3)x

7.4—(6z—(—8—(—H)x)) < 3z

8. —3x + 3z > —3(8 — Tx)

9. 8(3+4 2x) > —8x + 3z

10. 5 <9+ 6(bz + (—2))



Calculate.

1.9-(Bz—3)<1

2. 4(—4—-92)+Tx > 8z + (—4)z

3. =8x 49z > 1—1(=bzx — (—7))

4.9-Br—-(6—2x)) > -8z

5.9 — (62 — (—=5+ (=8)x)) > —9
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6. 7x >4z — (—1) — (—1)x

7.5< —6r+2— (—8)z

8. 2—2(3x+6)>9

9. —x > 8z — (=3 — (—H)z)

10. =8 > —(=T7z —8) — (=8)



Calculate.

l. =z >8x—(3—(—-1)x)

2. x4+ (=5H)x >6(2—9z) + (—2)z

3. —1—(22—5)> —Tz

4. x> 3(-2+ (-2)x) — 4z

5. —(—4x — (=9)) — 1 > 8z + (—6)z
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6. 7z + 62 < —1(6z + (—3)) — 2

7.-3>7— (=92 —5)

8. Tx < =Tox —7(—=8+ (—1)x)

9. —9x 4+ 2x > Tz — 2(—6 — (—3)2)

10. 82 > —7(7z — (=2)) — (=8)



Calculate.

L. —(=9—(—2x—(-7))) —bx <9

2. —1(5z — (=5)) + (1) > 8z

3. =92 < —(—4— (92 +8)) + (—8)x

4. —(1 = (=bzx —(=3)))+ (—4)z>9

5.2 >—7— (6z+6)
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6. =9 — (=62 — (8 = Tz)) > 8z + 6x

7. 20 < —1+5(—z+(-1))

8. 2(dx — (—8)) — 8 < 4a

9. 7—(=8z — (—8)) < =9z + Tz

10. 5(4 — 4z) — (—6)x > 3z



Calculate.

L.z >2((=3) + Tx)

2. 3z > —(8z+7) — (—4)

3. 7< 2z —(6—(—4)z)

4. =5 — (=Tx — (-4 +4x)) > —2x + 8z

5. =2 < —4dx — (-4 —x)
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6. —3z+6x > —3 — (—z — (3+ 3x))

7. —(6— (42— 8)) + (=9)z > 3

8. —5(—6 —4x) — (-Tzx < Tz

9. =3z + (—8)z < 9(2x — 8) + 6

10. 22 + 42 > —2 — (=92 + 5)



Calculate. Document No.IQP8550097

1. 82 < —8(—8+3z) + (~1)z 6. 6> —62 — (—1 — (—9)z)

2. —8 > 1z + 6(3 + 2) 7. —7> —5x — (—1 — 8x)

3. —(—x —5) —8 <8+ (—6)z 8. —6(x+1)— (=9) < 1z + (=2)z
4. —5(6 + (—8)x) + 62 < —3 9. 6 — (42 — (6 — 4x)) < 5z

5. 2(=5—=(=2)z) + (-9)z < —4x 10. 2 < —(=3—2z)+ (—8)x



Calculate.

L. =Tz —1)+9> -+ (—1)z

2. 7(—6x 4+ 3)+ (—2) <4z + (-H)z

3.5— (6x+2)>—1

4. —(9z+7)—1<9

5.9(3+ (=T)z) — 6z < —7
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6. br < 8(—6x — 1) — (—4)

7. —(1— (=22 — (1)) — (—9)z > 5z

8. —(—8 — (=6x 4 (—4))) + 5z >3

9. =(5+ (=9)x) + 7Tz > bx

10. =5z +4(—1+ (—4)z) < =8



Calculate.

1. 3z + 7z > =8 + 5(—5z — (—9))

2. 9> 8z + 1(—9 — 7x)

3. (6= (-Tz+2) -2z < -2z

4. =9 < —145(—22—17)

5. —(2—=(-9)z) — 3z > 4z
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6. —(—8 — (a4 6)) — (=2)z < Tz + (~1)z

7. 8z > 4x —4(—9 — (—4)x)

8. —2x < —x—6(—4—(—6)x)

9.1—(—z—(-2—-2)) <7z

10. =7 > =5z — (—=8) + (—9)x



Calculate. Document No.IQP8550100

. =5 <dx— (-9 —(—1)x) 6. 7x > —1(9 + 6x)

2.1>3x—7(9—2x) 7. 62+ 2z > —4(9+ (—3)x)

3.2z 4+ (—1)z < —(—1— (62 —2)) — (—4)x 8. —T7x > —1—(—6x — (4+5x))

4. -8 — (=bx — (=7)) > -2z + 3z 9. —(-8—(-32—-7) =9z < =3z + (—2)z

5.2> —x+ (1) + (—4)z 10. 9z — (-4 4 x) < —6
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